221 FERERERERNAZIHRAESE <STEMR>
ZHOH
(B fir-F)
EH_H REHE | FTHE % B 2t BA
RKE 3= 94,432| 600,000 A 505568 FHIERBEUESKRE

XRE 37,000 50,000 A 13000|EFRES

EZRE 671,787|  800,000] A 128213|2H& HiEm 138,176 ZDAth 99,100
BeensEd 28,800| 120,000 A 91,200(EFEREEH

BEE 568,312| 570,000 A 1,688[3"—-FAXY-2 266,760 YIF-EH 137,863

BEE 4,990 5,000 A10| BEaREHFOT—, 38, BERE

EitE 50,000 50,000 0| h—LR—TEEE
EKEE | 4043068| 4,150,000 A 106932|RE hBRE 115913

0| Dt

SifE 245,000/ 295,000 A 50000) HEH. BRARF, SEEA MEMSEER, BhRiFEs. kiESEESE
BREAZES 0 0 0
ReEmELETRS 0 0 0

INEE 5,743,389 6,640,000 A 896,611

A FREIURD




(B 67D

18 B REE T HE A E BE
EBXE i%ss 0 100,000] A 100,000|E#a—FicE
ERHE 0 50,000 A 50,000
LiRE 3,000 20,000 A 17,000 3FRAESEH (BRRFHE)
EL 617,012 1,000,000 A 382,988|EREHEEH 321,000 EEHHE - 158,000 EEE 138,012
P -1 2,523,695 5,500,000 A 2,976,305|E 4 179,578 EARRF - B4R 0
B hFERAS 0 LT 1—AK 119,970
XM 0 B b Ef H A — % 0
R—FZE kR 105,482 BchEf A&V 127 0
== PN ) 129,052 R—TFRAATIEEA 163,744
HEATRE-R 196,273 BEFHEV 1T 219,000
B FE—R 186,181 ATk 0
LTs—AREA 119,470 NG AR 0
8T NABYT 0 KBRHER Z2ER 106,628
EEF-TAERTIES 80,563 IR B HF 0
S—UR—ILEFHE 0 BHEBR - AFHE—TREES 72,513
heEiGE R 253,600 B PRFIE 305,781
LEMAANTFESR 68,980 ZERHRI 0
W7 UTFhR—FREES 71,995 EAXRS-CRFETES 70,148
ELEHIOVTTRS 74,737
2EA2emy|  785500{ 3,400,000 A 2614500 ZERESSME
Cr Al = 350,000{ 1,250,000 A 900,000| =15 0 th2# 150,000 224 0
LT4—A 200,000 £2xH-457 0 BrLEEES 0
=Rt 279,630 600,000] A 320370|ERETL 79630 HE BT REE S 200,000
Valilk 194,681 350,000 A 155319|db{EHL T—R L EHREE - LEHSHK L EMSEEK
NEH 4,753,518| 12,270,000 A 7,516,482
e 5,055,670| 5,850,000 A 794330| (ABf) BAZEBE~
BHEE -191 200 A 391 | BB AT A
HREAL 0| 150,000 A 150,000
Bag 0 0 0B HEIET
B 1,553,915 2,300,000 A 7460858 AW E R RS SEHEH S
Fins 291,800 A 291,800
/MEE 6,609,394 8592000 A 1,982,606
¥ & 17,106,301 27,502,000 A 10,395,699

A FREIYRD




2021 FEFRR N LR RTINS FTHIRAZIHREE

SH4%E3A318REE)
IR A & it 6,347,011
* HH =1 st 6,100,926
R A X H Z 5 % B 246,085 —fEEHA~AERA)
IRADE (B M)
=] = LUFE tHIEEE & & IR A %45 ] B
% A o 2,300,000 A 500,000 1,800,000 1,800,000 — i85t (BEFhm L EEH)
E{kRag{bEER 3,382FH
T Bh % 3,450,000 A 28,000 3,422,000 3,422,000| 2 o sl 40 m
a ] & 1,249000] A 309,000 940,000 940,000|&MEEIEE
i U A 1,000 184,011 185,011 185011 |[6EH-inEE-FR
# i % 0 0 0 O|RTEE &L
1y A =1 F 7,000,000 A 652,989 6,347,011 6,347,01 1[
AFEIYUE
FHDER (Bifi:-H)
15 B LFE FHIEEE & & XK B B4
EH f = & B 6,300,000 A 419,074 5,880,926 5,880,926
mE IR LEEEXS 0 0 0 0
a7 HANAE 600,000 A 420,000 180,000 180,000|hzE A ag (L &
AR - v % = 100,000 A 60,000 40,000 40,000 RAR—VIRHEZE
BB R AR EEEE
BAsSTEE R
-4 x| =} it 7.000,000 A 899,074 6,100,926 6,100,926

AFHEYRE




